RETAL 1RAEXN ML 02

1. ROFGBEAZEMBT. (S48, Ak15520%, Bik24540%, C#dsy)

(1)  04z=06 (2)  0.02x —4.5=2.3

(3)  0.15z+4=54-02z (4)  0.25(zx—1)=04(z+2)
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2. XoFFERzMT. (S5, AK1535%, B#K3o, C#H55)

(1)  0.8z=-0.6 (2)  0.03x —4.9=23

(3)  01z+29=5—025z (4)  0.15(x—3) =0.4(z +2)
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R&tTFAN 1 XRAEX I 02 RIS

1 ROBEREMT. (AT, A1 205, B2 405, C#%4sy)

(1) 04z =06 (2)  0.02z—45=23
0.4xx10 = 0.6x10 < x 10 (0.02z —4.5) x 100 = 2.3x100 <3 x 100
dr = 6 2¢ — 450 = 230
2r = 3 2¢ = 230+ 450
e = 3 2% = 680
2
r = 340
(3)  0.15zx+4=54—-0.2z (4)  0.25(x—1)=0.4(z+2)
152 +400 = 540 —20x < x 100 0.252 —0.25 = 04x+08 <« ()DEHM
152 +20z = 540 — 400 252 —25 = 40z + 80 — x 100
35z = 140 25z — 40z = 80425
z = 4 —152 = 105
3z = 21
x = -7
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2.

ROFGEREMT. (S5, A1935%, B39, CH55)

(1)  0.8z=-0.6

0.8z x 10

8x

4x

—0.6 x 10

(3) 0.1z+29=5-0.25z

10z + 290

10x + 25z

35x

500 — 25z

500 — 290

210

(2)  0.03x —4.9=23

< x 10 (0.03z —4.9) x 100 = 2.3 x 100 < x 100
3z —490 = 230
3z = 230+ 490
3z = 720
x = 240

<~ %100

© -

(4)  0.15(x —3) =0.4(z+2)

0.152 —0.45 = 04x+08 <« ()DEHM
152 —45 = 40z + 80 — x 100
152 —40x = 80+ 45

—25x = 125
—br = 25
x = —5
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